Warm-Up Question:
1. Graph x + 4y = 8 using the Intercept Method.
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Recap: The equation of a line is in the form

y=mx+b-/""
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Recap: Determine the equation of the following line.
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Ex. 1 Given the slope and y-intercept, determinethe equation of

the following lines. 7__ mMmx+b
a) m=-2 b) m=6 c)m=_1
? b =-1 3
b =4 b=0
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Ex. 2 Determine the equation of the followinglines given the
slope and a point of the line. y:_ My ts

aym=2  (47) by m=-3 (2 4)
b= Q-1+ b H=-3(0+%
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C) m= (4, 5)

Homework:
Pg. 106 #1 (Determine the

equation of the lines)
Pg. 116 # 6

Pg. 133 #1,9

Pg. 134 #2,5, 6
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